APPLIED CAVE
MATHEMATICS




Question 1.

How close to it’s Limit of Function is
TonroeSouterrain working at in 8012

Answer.

The Souterrain is operating to within
1.86 degrees (15.04 minus 13.18) or
35.1 mm (4450 minus 4414.9) of

maximum function.

All proofs for this at the end of the
section.



Question 2.

Have we been left any clues as to how
the Souterrain might have been
designed?

Answer.

It appears that Square and Compass
might have been used in the construction
of TonroeSouterrain.
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Question 3.

Given the following co-ordinates does Tonroe
have any alignment with important sites in
other countries?

Answer.

No.However Newgrange in The Boyne Valley
,Co Meath is aligned with:

Stonehenge in Wiltshire,
Vatican State,

The Great Pyramid at Giza,and
The Holy City of Medina.

These sites are on the same straight line which
is a 82.8 kilometer wide band which continues
through Western Australia and Tasmania.
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